Pe 1589 &
A) G (A + 0, (9) —» G, 0y ()
%Cxﬂz -
2 Ge(n) 1 OZC%) —Pp CJ\L?,OS (4)
,l? O, x3 Gr.0a » 2 '
2Ge () +3 0:(g) = 2G, 05 ()
¥ (Z(x\x 2
L G (o) + 30, (g) =2 &, 0s (5)
) T, S (s + Os(g) —» G (s) + 5OZC%>
l'ayk Cwu
Cur S (A + 03 (g) = 2 G o) + SOz 49)

) Tehe CHy (£) * 0,(g) = 120(2) + CO-(g)
L7 €0 4w el
C, He CHa(R) +0,(9) —»4H0(2) * 7CO, (g)

‘* 9& OQ_
CoHaCHa (2) + 90, g) —» L 10(e) + 7CO(g)



PG. 458 @
Ocoipo FErro (IT) Fe. O

b=
A) . "
Fe(n) +0,(8) —» F.,05 (a)

L Z'__x":'_e_ | 3% OZ j zy\I:‘QZOB

Z e ») + 30, (9) = 2 % .04 (1)

P)) 2. 08 g ol F. (»)

; LTS 2.6%  _ 0.04B0 /Mol
Y 55845 1 \
| CieRE S\ CATIVE =D Z.é@ =0.0480 waﬂ& i
559 |

MAceA O FQ?_O%
M(F,,0.) = 2-558,5 + 2~ 45.997

= 459 €87 %ﬂ//moﬁ

E ,
MASSA (FLIOB) = /n F, w o | M k‘F.Lan)
'3

£

= BLB5 2
C) mesk  oi O,
o © ML .12 = 0 0360 [ Mmal
A
Meora (02)= My +{5.997.2= @ 445 ¢



G3) ee. 160

Caccg (A) —®» Co. O (nY +CO> (%)

4,506 S MSCE | A CoCoa + ATRO

MAS S A (COz>: 0 .S%5% 8/

mCO - 0.%559%
2
A2.044 +2-45.0999,
= ©0.558 _0.042% amel(
4, Ood
JEERERaT A

MASSA (Cao €O4) = (A2-044 + 245397 + 40.0?‘8>
O 0427

|

ADO, OBF « O ,0A2%F




L) F6. 460

o

it |
— Pm() Jfe+32

LR T 0‘00)8{”&

s P (+,0) A8
P

My = L-Myo= 0.00926 ek
m. = M - 42 = Neo,

= Mo 0.00308 mel.
ol PA(D) e
M e 1
o P M INI P4
Mo => Foﬁmuwaw(@%
i e 5 DSR4/ bl
MO

n o P MOECOLARE o Ge.1  _ 2
B . B Lt
r FoRMU LA IMIN 3/(

(CH0:



—_— e T
—— | o ——

—
{ ™
=
—
— a
=
—rm ——
—
-
—
-
——
x
i = |
—
=
-
e
— —_
a =
—
— - -
——
- - -
-
—
—
-
-
ES
H
= = e —
—_— -




Fo ln) + 2 HA (oq) ® ., (o) + HEL%)

RN VR YR S (RS R LY P
3 /%.555 4 T

P
JIEN R RS
1=28."¢ = 298 =
ML me =51 F= kU 0.6 10°° ot
M, Fe —_ T



